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89. Right versus left The design of controls and instru- Subject - Right thread Left thread
e ments affects how easily people can use them. A 20 ' 29 o
**Student project investigated this effect by asking 25
right-handed students to turn a knob (with their 21 [ 76
right hands) that moved an indicator. There were : 22 100 116
two identical instruments, one with a right-hand 03 i 89 78
thread (the knob turns clockwise) and the other with o4 85 101
a left-hand thread (the knob must be turned coun- 25 68 123

terclockwise). Each of the 25 students used both -

instruments in a random order. The following table i) Bl wlop b wascivepiortunt ¥sreandonly sefan

ives the times in seconds each subject took to move ) 4 .
%}:‘é indicator a fixed distance:3° I \’._\R {:\Gé the order in which each su?a;ect use.:d (the two knobs.
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) b) The project designers hoped to show that right:
NOTE - ¢ Scme ( proj gners hoped to show that right
)’ou_ w oy \d 3‘ ¥ +L handed people find right-hand threads easier to use. | Sx = &2. 93(
R : did Riakt ~LefT, Carry out a significance test at the 5% significance &
lonclosidn F yda % £ level to investigate this claim. ne s
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94. Significance and sample size A study with 5000 & > 14797 coswer hece

subjects reported a result that was statistically signifi- h
 cant at the 5% level. Explain why this result might T « 3 +o¢l\/ may have re‘S e,c,-’eé Ra 4

not be particularly large or important. ot . )
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95_‘ Sampling shoppers A markgting consultant Num
observes 50 consecutive shoppers at a supermarket, ANY Bee, oF THINGS Courd Go

recording how much each shopper spends in the WLae WITH A CoNVEAITENICE SAMALE.

store. Explain why it would not be wise to use these

data to carry out a significance test about the mean ¢ X
- amount spent by all shoppers at this supermarket. D EPEADINC ON THe TIimeE oF DAY o2
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96. Ages of presidents Joe is writing a report on the
backgrounds of American presidents. He looks up
the ages of all the presidents when they entered”
office. Because Joe took a statistics course, he uses  ~ K
these numbers to perform a'significance test about
the mean age of all U.S. presidents. Explain why this

makes no sense. R
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97. Do you have ESP? A researcher looking for @ No we’ ex PQC*' OJ:N + 5 o4 the SdJo
evidence of extrasensory perception (ESP) tests .
500 subjects. Four of these subjects do significantly Lo“,,é Subjecty ~who dy 1+ heve € SP to
) Ec:ﬁgriP < O'OIl@EQLanOT,g?ﬁSEng; B o\ c{o be Her %e.‘ rendon ‘} Goes U“ng_
(a) s it proper to conclude that these four people dust by ¢ (.\ cnce,
have ESP? Explain your answer.
(b) What should the researcher now do to test @ —The rese. cher ‘5l,ou Id Ce pe.ct q’t\t

whether any of these four subjects have ESP?
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Test of Significance Template
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Sketch of the sampling distribution of the sample statisﬁc under the null hypothefis, indicating
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Use correct probability notation.

<P (7 3.904) = £ed§(2.904, E99 24) = ,0039 E
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QReject null hypothesis O significant result

(3 Fail to reject null hypothesis | (J Not Significant result
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